Provided for non-commercial research and educational use. Not for reproduction, distribution or commercial use.

Mathematica Balkanica

Mathematical Society of South-Eastern Europe
A quarterly published by
the Bulgarian Academy of Sciences – National Committee for Mathematics

The attached copy is furnished for non-commercial research and education use only. Authors are permitted to post this version of the article to their personal websites or institutional repositories and to share with other researchers in the form of electronic reprints.

Other uses, including reproduction and distribution, or selling or licensing copies, or posting to third party websites are prohibited.

For further information on Mathematica Balkanica visit the website of the journal http://www.mathbalkanica.info

or contact:

Mathematica Balkanica - Editorial Office; Acad. G. Bonchev str., Bl. 25A, 1113 Sofia, Bulgaria Phone: +359-2-979-6311, Fax: +359-2-870-7273, E-mail: balmat@bas.bg



New series Vol.9, 1995, Fasc.1

Two Mappings in Connection to Jensen's Inequality

S. S. Dragomir, D. M. Milošević

Presented by P. Kenderov

Refinements of Jensen's discrete inequality by the use of the mappings introduced in (1) and (4) and certain applications in connection with some well-known inequalities in Mathemetical Analysis are given.

1. Introduction

Let I be an interval of real numbers and $f: I \to \mathbb{R}$ be a convex mapping on I. The following inequality is known in literature as Jensen's inequality:

$$f\left(\sum_{i=1}^n p_i x_i\right) \leq \sum_{i=1}^n p_i f(x_i),$$

where x_i are in I, p_i are nonnegative real numbers, i = 1, 2, ..., n and $\sum_{i=1}^{n} p_i = 1$.

In this note, using mappings (1) and (4), we propose some refinements of Jensen's inequality. Certain applications are also given.

For other recent results in connection with this inequality, we refer to the papers [3-7] where further references are given.

2. The main results

For a given convex function $f:I\subseteq\mathbb{R}\to\mathbb{R}$ and for $x_i\in I,\ p_i\geq 0$

 $(i=1,2,\ldots,n)$ with $\sum_{i=1}^{n} p_i = 1$, we shall consider the mapping

(1)
$$H: [0,1] \to \mathbb{R}, \quad H(t) := \sum_{i=1}^{n} p_i f\left(tx_i + (1-t)\sum_{j=1}^{n} p_j x_j\right).$$

The following theorem holds.

Theorem 1. If $f: I \to \mathbb{R}$ is as above, then

- (i) H is convex on [0,1];
- (ii) We have the bounds

(2)
$$\inf_{t \in [0,1]} H(t) = H(0) = f(\sum_{i=1}^{n} p_i x_i)$$
$$\sup_{t \in [0,1]} H(t) = H(1) = \sum_{i=1}^{n} p_i f(x_i);$$

(iii) H is increasing on [0,1].

Proof. (i). Obvious by the convexity of d.

(ii). We shall prove the following inequalities:

$$f\left(\sum_{i=1}^{n} p_{i}x_{i}\right) \leq H(t) \leq t \sum_{i=1}^{n} p_{i}f(x_{i}) + (1-t)f\left(\sum_{i=1}^{n} p_{i}x_{i}\right) \leq \sum_{i=1}^{n} p_{i}f(x_{i})$$

for all t in [0,1].

By Jensen's inequality, we have:

$$H(t) \geq f\left(\sum_{i=1}^n p_i \left[tx_i + (1-t)\sum_{j=1}^n p_jx_j\right]\right) = f\left(\sum_{i=1}^n p_ix_i\right).$$

Now, using the convexity of f, we get:

$$H(t) \leq \sum_{i=1}^{n} p_{i}[tf(x_{i}) + (1-t)f(\sum_{i=1}^{n} p_{i}x_{j})] = t\sum_{i=1}^{n} p_{i}f(x_{i}) + (1-t)f(\sum_{i=1}^{n} p_{i}x_{i}),$$

and the second inequality in (3) is also proved.

The last inequality is obvious observing that the mapping

$$g(t) := t \sum_{i=1}^{n} p_i f(x_i) + (1-t) f(\sum_{i=1}^{n} p_i x_i)$$

is increasing on [0, 1].

(iii). Let t_1, t_2 be in (0,1) with $t_2 > t_1$. Since H is convex on (0,1), we have:

$$\frac{H(t_2) - H(t_1)}{t_2 - t_1} \ge H'_+(t_1) = \sum_{i=1}^n p_i f'_+(t_1 x_i + (1 - t_1) \sum_{j=1}^n p_j x_j) (x_i - \sum_{j=1}^n p_j x_j)$$

where $f'_{+}(x_0)$ denotes the right-hand derivative of f in the point x_0 .

Since f is convex on I, we have:

$$f(x) - f(y) \geq f'_{+}(y)(x - y)$$

for all x, y in $\overset{\circ}{I}$ ($\overset{\circ}{I}$ is the interior of I), which implies that:

$$f\left(\sum_{i=1}^{n} p_{i}x_{i}\right) - f\left(t_{1}x_{i} + (1-t_{1})\sum_{j=1}^{n} p_{j}x_{j}\right) \geq \\ \geq t_{1}f'_{+}\left(t_{1}x_{i} + (1-t_{1})\sum_{j=1}^{n} p_{j}x_{j}\right)\left(\sum_{j=1}^{n} p_{j}x_{j} - x_{i}\right).$$

Consequently, we have

$$f'_{+}\left(t_{1}x_{i} + (1-t_{1})\sum_{j=1}^{n}p_{j}x_{j}\right)\left(x_{i} - \sum_{j=1}^{n}p_{j}x_{j}\right) \geq \frac{1}{t_{1}}\left[f\left(t_{1}x_{i} + (1-t_{1})\sum_{j=1}^{n}p_{j}x_{j}\right) - f\left(\sum_{i=1}^{n}p_{i}x_{i}\right)\right].$$

By multiplying with $p_i \geq 0$ and summing over i = 1, 2, ..., n, we deduce that:

$$H'_{+}(t_1) \geq \frac{1}{t_1}(H(t_1) - H(0)) \geq 0$$
 if $t_1 \in (0,1)$,

which shows that H is increasing on (0,1) and, by (ii), also in [0,1].

Thus the proof is finished.

Now, we shall introduce the second mapping in connection to Jensen's inequality.

Let $f:I\subseteq\mathbb{R}\to\mathbb{R}$ be a convex mapping on the interval I. Consider the mapping

(4)
$$F: [0,1] \to \mathbb{R}, \quad F(t) := \sum_{i,j=1}^{n} p_i p_j f(tx_i + (1-t)x_j)$$

where $p_i \geq 0$ with $\sum_{i=1}^n p_i = 1$ and $x_i \in I$ (i = 1, 2, ..., n).

The following theorem holds.

Theorem2. Let f, p_i and x_i be as above. Then

(i)
$$F(s + 1/2) = F(1/2 - s)$$
 for all s in $[0, 1/2]$;

- (ii) F is convex on [0,1];
- (iii) We have the bounds:

$$\sup_{t \in [0,1]} F(t) = F(0) = F(1) = \sum_{i=1}^{n} p_i f(x_i);$$

$$\inf_{t \in [0,1]} F(t) = F(1/2) = \sum_{i,j=1}^{n} p_i p_j f(\frac{x_i + x_j}{2});$$

(iv) The following inequality is valid:

$$f\left(\sum_{i=1}^n p_i x_i\right) \leq F(1/2);$$

- (v) F is decreasing on [0, 1/2] and increasing on [1/2, 1];
- (vi) The inequality:

$$H(t) \leq F(t)$$
 for all t in [0,1] holds.

Proof. (i). Obvious by definition of F.

- (ii). Follows by the convexity of f.
- (iii). Since f is convex on I, hence:

$$f(tx_i + (1-t)x_j) \le tf(x_i) + (1-t)f(x_j)$$

for all i, j = 1, 2, ..., n and t in [0, 1]. By multiplying with $p_i p_j \ge 0$ and summing over i, j = 1, 2, ..., n, we get:

$$\sum_{i,j=1}^{n} f(tx_i + (1-t)x_j)p_ip_j \leq \sum_{i,j=1}^{n} [tf(x_i) + (1-t)f(x_j)]p_ip_j = \sum_{i=1}^{n} p_if(x_i),$$

which shows that $F(t) \leq F(0) = F(1)$, for all t in [0,1].

On the other hand, by the convexity of f, we also have:

$$\frac{1}{2} \left[f(tx_i + (1-t)x_j) + f(tx_j + (1-t)x_i) \right] \ge f\left(\frac{x_i + x_j}{2}\right)$$

for all i, j = 1, 2, ..., n and t in [0, 1]. By multiplying this inequality with $p_i p_j \ge 0$ and summing over i, j = 1, 2, ..., n, we derive:

$$\sum_{i,j=1}^{n} p_i p_j f(\frac{x_i + x_j}{2}) \leq \frac{1}{2} \sum_{i,j=1}^{n} p_i p_j \left[f(tx_i + (1-t)x_j) + f((1-t)x_i + tx_j) \right]$$

$$= \sum_{i,j=1}^{n} p_i p_j f(tx_i + (1-t)x_j),$$

which implies that $f(1/2) \le F(t)$ for all t in [0,1], and the statement is proved. (iv). Using Jensen's inequality, we have:

$$\sum_{i,j=1}^{n} p_{i}p_{j}f(\frac{x_{i}+x_{j}}{2}) \geq f\left(\sum_{i,j=1}^{n} p_{i}p_{j}(\frac{x_{i}+x_{j}}{2})\right) = f\left(\sum_{i=1}^{n} p_{i}x_{i}\right),$$

which proves the statement.

(v). Since F is convex on (0,1), we have for $t_2 > t_1, t_2, t_1 \in (1/2,1)$:

$$\frac{F(t_2)-F(t_1)}{t_2-t_1} \geq F'_+(t_1) = \sum_{i,j=1}^n f'_+(t_1x_i+(1-t)x_j)(x_i-x_j)p_ip_j.$$

By the convexity of f on I, we deduce:

$$f(\frac{x_i+x_j}{2}) - f(t_1x_i+(1-t_1)x_j) \ge \frac{1}{2}f'_+(t_1x_i+(1-t_1)x_j)(x_i-x_j)(1-2t_1)$$

for all i, j = 1, 2, ..., n and $t_1 \in (1/2, 1)$.

By multiplying with $p_i p_j \ge 0$ and summing over i, j = 1, 2, ..., n, we derive that:

$$F'_{+}(t_1) \geq \frac{2}{2t_1-1}(F(t_1)-F(1/2)) \geq 0, \quad t_1 \in (1/2,1),$$

which shows that F is increasing on (1/2,1) and, by (iii), also in [1/2,1].

The fact that F is decreasing on [0, 1/2] goes likewise and we omit it.

(vi). A simple computation shows that:

$$H(t) = \sum_{i=1}^{n} p_{i} f \left(\sum_{j=1}^{n} [tx_{i} + (1-t)x_{j}]p_{j} \right).$$

Using Jensen's inequality, we derive that

$$H(t) \leq \sum_{i,j=1}^{n} p_i p_j f(tx_i + (1-t)x_j) = F(t), \quad t \in [0,1]$$

and the proof of the theorem is finished.

Now, we will give some applications of these main results.

3. Applications

1. Let $x_i, p_i \geq 0$ (i = 1, 2, ..., n) with $\sum_{i=1}^n p_i = 1$. Then the following refinements of arithmetic mean – geometric mean hold:

$$\sum_{i=1}^{n} p_{i} x_{i} \geq \prod_{i=1}^{n} \left(t x_{i} + (1-t) \sum_{j=1}^{n} p_{j} x_{j} \right)^{p_{i}} \geq \prod_{i=1}^{n} x_{i}^{p_{i}}$$

and

$$\sum_{i=1}^{n} p_{i} x_{i} \geq \prod_{i,j=1}^{n} \left(\frac{x_{i} + x_{j}}{2} \right)^{p_{i} p_{j}} \geq \prod_{i,j=1}^{n} (t x_{i} + (1 - t) x_{j})^{p_{i} p_{j}} \geq \prod_{i=1}^{n} x_{i}^{p_{i}}$$

for all t in [0,1].

The proof is obvious from Theorem 1 and 2 for the convex mapping $f(x) = -\ln x$, x > 0.

2. Let $x_i \in \mathbb{R}$, $p_i \geq 0$ (i = 1, 2, ..., n) with $\sum_{i=1}^n p_i = 1$ and $p \geq 1$. Then the inequalities:

$$\left| \sum_{i=1}^{n} p_{i} x_{i} \right|^{p} \leq \sum_{i=1}^{n} p_{i} \left| t x_{i} + (1-t) \sum_{j=1}^{n} p_{j} x_{j} \right|^{p} \leq \sum_{i=1}^{n} p_{i} |x_{i}|^{p}$$

and

$$\left| \sum_{i=1}^{n} p_{i} x_{i} \right|^{p} \leq \sum_{i,j=1}^{n} p_{i} p_{j} \left| \frac{x_{i} + x_{j}}{2} \right|^{p} \leq \sum_{i,j=1}^{n} p_{i} p_{j} |t x_{i} + (1-t) x_{j}|^{p} \leq \sum_{i=1}^{n} p_{i} |x_{i}|^{p}$$

are valid for all t in [0,1].

The proof is obvious from Theorem 1 and 2 for the convex mapping $f(x) = |x|^p$, $p \ge 1$.

3. Let $x_i \in (0, 1/2]$ (i = 1, 2, ..., n). Then the following refinements of the well known inequality due to Ky Fan [2, p. 5] are valid:

$$\frac{\sum_{i=1}^{n} x_{i}}{\sum_{i=1}^{n} (1-x_{i})} \geq \prod_{i=1}^{n} \left[\frac{tx_{i} + (1-t)1/n \sum_{j=1}^{n} x_{j}}{1-tx_{i} - (1-t)1/n \sum_{j=1}^{n} x_{j}} \right]^{1/n}$$

$$\geq \left[\frac{\prod_{i=1}^{n} x_{i}}{\prod_{i=1}^{n} (1-x_{i})} \right]^{1/n}$$

and

$$\frac{\sum_{i=1}^{n} x_{i}}{\sum_{i=1}^{n} (1 - x_{i})} \ge \left[\prod_{i,j=1}^{n} \frac{x_{i} + x_{j}}{2 - x_{i} - x_{j}} \right]^{1/n^{2}}$$

$$\ge \left[\prod_{i,j=1}^{n} \left(\frac{tx_{i} + (1 - t)x_{j}}{1 - tx_{i} - (1 - t)x_{j}} \right) \right]^{1/n^{2}} \ge \left[\frac{\prod_{i=1}^{n} x_{i}}{\prod_{i=1}^{n} (1 - x_{i})} \right]^{1/n}$$

for all t in [0,1].

The proof follows by Theorem 1 and 2 for the convex mapping f(x) = $-\ln(\frac{x}{1-x}), x \in (0, 1/2].$

Remark. If we choose in Theorem 1 and 2 $f(x) = \ln(\frac{x}{1-x})^x$, $x \in (0,1)$, we obtain a refinement of an intertesting fact established by H. Alzer in [1] which gives a converse inequality for Ky Fan's main result.

References

- [1] H. Alzer. A converse of Ky Fan's inequality. C. R. Math. Rep. Acad. Sci. Canada, 11, 1989, 1-3.
- [2] E. F. Beckenbach, R. Bellman. Inequalities, 4-th ed. Springer, Berlin, 1983.
- [3] S.S. Dragomir. A refinement of Jensen inequality. G. M. Metod. (Bucharest), 4,10,
- [4] S. S. Dragomir, N. M. Ionescu. On some inequalities for convex dominated functions. Anal. Num. Theor. Approx. (Cluj), 19, 1990, 21-28.
- [5] S.S. Dragomir. Some refinements of Ky Fan's inequality. J. Math. Anal. Appl. 163
- (1992), 317-321.
 [6] J.E. Pečarić, S.S Dragomir. A refinement of Jensen inequality and applications. Studia Univ. "Babes-Bolyai" (Cluj), Mathematica 34, (1), 1989, 15-19.

† Department of Mathematics University of Timişoara B-dul V. Pârvan, No. 4 R-1900 Timişoara ROMANIA ‡ 32308 Pranjani YUGOSLAVÍA

Received 20.10.1992